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िशᭃक अᳰंकत 
Tutor Marked Assignment

ᳯट᭡पणी:  (i)  सभी ᮧ᳤ अिनवायᭅ ह।ᱹ ᮧ᭜यके
Note: All questions are compulsory. 

questions. 
(ii) उᱫर पुि᭭तका के ᮧथम पृ᳧

िलिखए। 
 Write your name, enrollment number, AI name, and subject on the top of the first 

page of the answer sheet.
 
1. िन᳜िलिखत मᱶ स ेᳰकसी एक ᮧ᳤ का

Answer any one of the following questions in about 40
 (A) नीचे ᳰदए गए ᳰᮓयाकलाप के चरणᲂ को पढ़ᱶ और उसके बाद आने वाले ᮧ᳤ᲂ के उᱫर दᱶ

एक ᭭टील ᳲ᭭ᮧग लकेर उसका उपरी िसरा
एक मीटर ᭭केल को िचᮢ मᱶ ᳰदखाए अनुसार 

इसके िनचले िसरे पर लगे हगᱹर पर एक
100 ᮕाम भार डालते समय, खᱭचने वाला बल 
हर बार नोट ᳰकया गया, जब तक ᳰक भार 

(i) उस िनयम का नाम बताते ᱟए
ह।ै 
(ii) उपरोᲦ ᳰᮓयाकलाप के िलए 
बनाए।ं ऐसे ᮕाफ़ का ढलान ᭍या दशाᭅता है

Read the steps of activity given below and answer the questions that follow it:
A steel spring with its top fixed with a rigid support on a wall and a metre scale along its 
side are arranged as shown in the Fig.

100 g load at a time is added on the bottom of the hanger in steps which means that while 
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ᮧ᭜येक ᮧ᳤ के अंक उसके सामने ᳰदए गए हᱹ। 
All questions are compulsory. The marks allotted for each question are beside the 

पृ᳧  पर अपना नाम, अनᮓुमाकं, अ᭟ययन के᭠ᮤ का नाम और 

Write your name, enrollment number, AI name, and subject on the top of the first 
sheet. 

का उᱫर लगभग 40-60 श᭣दᲂ मᱶ दीिजये। 
Answer any one of the following questions in about 40-60 words.  

के चरणᲂ को पढ़ᱶ और उसके बाद आने वाले ᮧ᳤ᲂ के उᱫर दᱶ: 
लकेर उसका उपरी िसरा दीवार मᱶ लगे ᳰकसी दढ़ृ अवलबं से ि᭭थर कर

एक मीटर ᭭केल को िचᮢ मᱶ ᳰदखाए अनुसार ᳞वि᭭थत ᳰकया गया | 

 
पर एक-एक कर 100 ᮕाम भार लटका कर (िजसका अथᭅ ह ैᳰक ᮧ᭜येक 

खᱭचने वाला बल 1N बढ़ जाता ह।ै) ᳲ᭭ᮧग कᳱ लंबाई मᱶ होने वाली वृि᳍ को
जब तक ᳰक भार 500 ᮕाम तक न पᱟचं जाए। 

बताते ᱟए पᳯरभािषत कᳱिजय ेजो उपरोᲦ ᳰᮓयाकलाप मᱶ ᮧदᳶशत ᳰकया गया 

के िलए भार और ल᭥बाई मᱶ ᱟई वृि᳍ के बीच ᮕाफ का एक सामा᭠य आकार 
बनाएं। ऐसे ᮕाफ़ का ढलान ᭍या दशाᭅता ह?ै                       

Read the steps of activity given below and answer the questions that follow it:
h its top fixed with a rigid support on a wall and a metre scale along its 

side are arranged as shown in the Fig. 

 
100 g load at a time is added on the bottom of the hanger in steps which means that while 
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 िवषय ᭭प᳥ श᭣दᲂ मᱶ 
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से ि᭭थर कर, इसके ᳰकनारे 

िजसका अथᭅ ह ैᳰक ᮧ᭜येक 
होने वाली वृि᳍ को 

मᱶ ᮧदᳶशत ᳰकया गया 

के बीच ᮕाफ का एक सामा᭠य आकार 
                   (पाठ-8 दखेᱶ) 

Read the steps of activity given below and answer the questions that follow it: 
h its top fixed with a rigid support on a wall and a metre scale along its 

100 g load at a time is added on the bottom of the hanger in steps which means that while 
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putting each 100 g load, the stretching force is i
of spring is also noted each time, till the load reaches 500 g.

(i) Name and state the law which is demonstrated in above activity.
(ii) Plot a general shape of the graph between load and extension for above activity. 
What does the slope of such a graph indicate? 

(B) 0.2 cm2 अनᮧु᭭थ पᳯर᭒छेद ᭃेᮢफल 

आव᭫यक बल कᳱ गणना करᱶ| ᳰदया 
जाए तो ᮧ᭜येक भाग का यगं का गुणांक
Calculate the force required to increase the length of a wire 
0.2 cm2 by 25%. Given Y = 2 × 10
then what will be the Young’s modulus of each part?

2. िन᳜िलिखत मᱶ स ेᳰकसी एक ᮧ᳤ का
Answer any one of the following questions in about 40

(A) 200 ᮕाम ᮤ᳞मान का एक सरल 
इसका आवतᭅकाल 10 सेकंड ह,ै तो 
करᱶ 

(i) मा᭟य ि᭭थित पर  
(ii) चरम ि᭭थित पर   

A simple harmonic oscillator of mass 200 g oscillates with amplitude 0.04 m. If its time 
period is 10 s, calculate its Potential and kinetic 

(i) Mean position 
(ii) Extreme Position 

(B) नीचे ᳰदए गए ᳰᮓयाकलाप के चरणᲂ को पढ़ᱶ और उसके बाद आने वाले ᮧ᳤ᲂ के उᱫर दᱶ
 दोनᲂ ओर से जड़ुी ᱟई एक कठोर ᭃैितज छड़ लीिजए।
 इसके िसरᲂ को जोड़ते ᱟए एक ढीला लᳰेकन मजबूत धागा बांधᱶ 

और िचᮢ मᱶ ᳰदखाए अनुसार 
लटकाए।ं 

 लोलक A और B कᳱ लंबाई समान है
और B से छोटी और D कᳱ लंबाई अिधक ह।ै

 लोलक B मᱶ एक भारी गोलक 
 कुछ िमनटᲂ के बाद यह दखेा जा

(i) यᳰद उपरोᲦ ᳰᮓयाकलाप

C और D कᳱ दोलन कᳱ आविृᱫ ᭍या होगी
(ii) लोलक C और D ᳇ारा 
(iii) यह देखा गया ह ैᳰक लोलक 
दोलन करता ह|ै इस ᳞वहार के िलए उᱫरदायी घटना का नाम बताइए

Read the steps of activity given below and answer the questions that follow it:
 Take a rigid horizontal rod fixed at both ends. 
 Tie a loose but strong thread and hang the four pendulums A,B,C,D, as shown in Fig. 
 The pendulums A and B are of equal lengths, whereas C has a shorter and D has a longer 

length than A and B. 
 The pendulum B has a heavy bob. Set pendulum B into oscillations. 
 After a few minutes it will be observed that the other three pendulums also begin to 

oscillate. 
(i) If the pendulum B oscillates with the frequency of 2 Hz in above activity, then 
what will be the frequency of oscillation of pendulum C and D?

 

putting each 100 g load, the stretching force is increased by 1N. The extension in the length 
of spring is also noted each time, till the load reaches 500 g. 

Name and state the law which is demonstrated in above activity. 
Plot a general shape of the graph between load and extension for above activity. 

What does the slope of such a graph indicate?            (See Lesson 

ᭃेᮢफल वाली एक ᭭टील के तार कᳱ लबंाई को 25% 

ᳰदया ह ैY = 2 × 1011 Nm-2. यᳰद इस तार को दो बराबर भागᲂ मᱶ काटा 
का गुणांक ᭍या होगा?                                          

Calculate the force required to increase the length of a wire of steel of cross sectional area 
by 25%. Given Y = 2 × 1011 N m–2. Further if this wire is cut in two equal halves, 

then what will be the Young’s modulus of each part?                           (See Lesson 

का उᱫर लगभग 40-60 श᭣दᲂ मᱶ दᱶ। 
Answer any one of the following questions in about 40-60 words. 

ᮕाम ᮤ᳞मान का एक सरल अवतᭅ दोिलᮢ 0.04 मीटर के आयाम के साथ दोलन करता ह।ै यᳰद 
तो िन᳜िलिखत ि᭭थतयᲂ पर इसकᳱ ि᭭थितज और गितज ऊजाᭅ कᳱ गणना 

                       
A simple harmonic oscillator of mass 200 g oscillates with amplitude 0.04 m. If its time 
period is 10 s, calculate its Potential and kinetic energy at 

                         (See Lesson 

के चरणᲂ को पढ़ᱶ और उसके बाद आने वाले ᮧ᳤ᲂ के उᱫर दᱶ: 
एक कठोर ᭃैितज छड़ लीिजए। 

एक ढीला लᳰेकन मजबूत धागा बांधᱶ 
 इससे चार लोलक A, B, C, D 

कᳱ लंबाई समान ह,ै जबᳰक C कᳱ लबंाई A 
कᳱ लंबाई अिधक ह।ै 

 ह।ै लोलक B को दोलन कराए।ं 
कुछ िमनटᲂ के बाद यह दखेा जा सकता ह ैᳰक अ᭠य तीन लोलक भी दोलन करना शुᱨ कर दते ेह।ᱹ

ᳰᮓयाकलाप मᱶ लोलक B, 2 Hz कᳱ आवृिᱫ के साथ दोलन करता है

कᳱ दोलन कᳱ आवृिᱫ ᭍या होगी? 
᳇ारा ᳰकये जाने वाले दोलनᲂ के ᮧकार को ᭍या कहा जाता है

यह दखेा गया ह ैᳰक लोलक A अपᭃेाकृत अपनी ᭭वाभािवक आवृिᱫ के साथ
इस ᳞वहार के िलए उᱫरदायी घटना का नाम बताइए।              

Read the steps of activity given below and answer the questions that follow it:
Take a rigid horizontal rod fixed at both ends.  
Tie a loose but strong thread and hang the four pendulums A,B,C,D, as shown in Fig. 
The pendulums A and B are of equal lengths, whereas C has a shorter and D has a longer 

The pendulum B has a heavy bob. Set pendulum B into oscillations.  
After a few minutes it will be observed that the other three pendulums also begin to 

If the pendulum B oscillates with the frequency of 2 Hz in above activity, then 
be the frequency of oscillation of pendulum C and D? 

  2 

ncreased by 1N. The extension in the length 

Plot a general shape of the graph between load and extension for above activity. 
(See Lesson – 8) 

%  बढ़ान े के िलए 

यᳰद इस तार को दो बराबर भागᲂ मᱶ काटा 
                                   (पाठ-8 दखेᱶ) 

of steel of cross sectional area 
. Further if this wire is cut in two equal halves, 

(See Lesson – 8) 

 

2 

मीटर के आयाम के साथ दोलन करता ह।ै यᳰद 
और गितज ऊजाᭅ कᳱ गणना 

                 (पाठ-13 दखेᱶ) 
A simple harmonic oscillator of mass 200 g oscillates with amplitude 0.04 m. If its time 

(See Lesson – 13) 

 

 

भी दोलन करना शुᱨ कर दतेे ह।ᱹ 
कᳱ आवृिᱫ के साथ दोलन करता ह,ै तो लोलक 

दोलनᲂ के ᮧकार को ᭍या कहा जाता ह?ै 
आवृिᱫ के साथ बड़े आयाम स े

              (पाठ-13 दखेᱶ) 
Read the steps of activity given below and answer the questions that follow it: 

Tie a loose but strong thread and hang the four pendulums A,B,C,D, as shown in Fig.  
The pendulums A and B are of equal lengths, whereas C has a shorter and D has a longer 

After a few minutes it will be observed that the other three pendulums also begin to 

If the pendulum B oscillates with the frequency of 2 Hz in above activity, then 
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(ii) What is the term given to the type of 
oscillations that pendulums C and D execute? 
(iii) It is observed that pendulum A oscillates 
with relatively large amplitude
frequency. Name the phenomenon responsible 
for this behaviour.  

3. िन᳜िलिखत मᱶ स ेᳰकसी एक ᮧ᳤ का
Answer any one of the following questions in about 40

(A) भू-तरंग सचंरण को पᳯरभािषत करᱶ।

3300 MHz ह।ै ᭍या इस रेिडयो

अपने उᱫर कᳱ ᳞ा᭎या कᳱिजये। 
Define Ground wave Propagation. One of the fifth generation (5G) cellular network radio 
waves has a frequency of 3300 MHz. Can this radio wave be propagated through ground 
wave propagation? Explain your answer.

(B) जगदीश चंᮤ  बोस एक अᮕणी भारतीय
ᮧसारण पर अपने काम के िलए
इं᭭टीᲷूशन और इं᭏लडᱹ कᳱ अ᭠य 
दी। उनके ᳇ारा उपयोग कᳱ जान ेवाली

माइᮓोववे (सू᭯ म) तरंगᲂ कᳱ आविृᱫ
वाली तरंगᲂ कᳱ आविृᱫ भी ᭄ात

Jagadish Chandra Bose was a pioneer Indian scientist who is well known for his work on 
the wireless transmission of information using microwaves. Invited by Lord Rayleigh, in 
1897 Bose reported on his microwave (millimeter
Institution and other societies in England. The wavelengths he used ranged from 2.5 cm to 5 
mm. 

Write the frequency and wavelength range of microwaves. Also find the frequency 
corresponding to the wavelengths 2.5 cm and 5 mm.

4. िन᳜िलिखत मᱶ से ᳰकसी एक ᮧ᳤ का उᱫर 
Answer anyone of the following questions in 100

(A) ऋिष एक ᳰकसान ह ै िजसके पास खेत का एक छोटा सा टुकड़ा ह ैजो एक आयत के ᱨप मᱶ ह ै िजसकᳱ 
लंबाई और चौड़ाई ᮓमशः 40.25 
एक कोन े(िजसे मूल िनदᱷशांक माना जा
का आधा िह᭭सा पूणᭅ कर लतेा ह।ै 

(i) साथᭅक अंको को ᭟यान मᱶ रखत ेᱟए
कᳱिजय|े  
(ii) ᮧासंिगक आरेख कᳱ सहायता से
ᳰदशा मᱶ इकाई सᳰदशᲂ के ᱨप मᱶ ᳞Ღ करᱶ।
(iii) सᳰदश योग का िनयम 
िव᭭थापन कᳱ गणना के िलए ᳰकया था।
(iv) ऋिष के ᭃैितज और ऊ᭟वाᭅधर िव᭭थापन

Rishi is a farmer who owns a small piece of farmland which is in the form of a rectangle 
with length and breadth of 40.25 m and 30.75 m respectively. 
boundary of her farmland starting from one corner (assumed to be origin) and covers half 
the boundary of her farmland.

 

What is the term given to the type of 
oscillations that pendulums C and D execute?  

It is observed that pendulum A oscillates 
large amplitude with its natural 

frequency. Name the phenomenon responsible 
   

(See Lesson – 13) 

का उᱫर लगभग 40-60 श᭣दᲂ मᱶ दᱶ।  
Answer any one of the following questions in about 40-60 words. 

करᱶ। ᳰकसी पांचवᱭ पीढ़ी (5G) सेलुलर नेटवकᭅ  रेिडयो 

रेिडयो तरंग को भ-ूतरंग संचरण के मा᭟यम स ेसंचᳯरत ᳰकया

                                                                      
Define Ground wave Propagation. One of the fifth generation (5G) cellular network radio 
waves has a frequency of 3300 MHz. Can this radio wave be propagated through ground 

ation? Explain your answer.               (See Lesson 
भारतीय व᭄ैािनक थ ेजो माइᮓोवेव का उपयोग करके सूचना
िलए जाने जाते ह।ᱹ लॉडᭅ रेल े ᳇ारा आमंिᮢत,1897 मᱶ

 सोसायᳯटयᲂ को अपने माइᮓोवेव (िमलीमीटर-वेव) ᮧयोगᲂ
वाली तरंगᲂ का तरंग द᭟ैयᭅ 2.5 सेमी स े5 िममी तक था
आविृᱫ और तरंग द᭟ैयᭅ पᳯरसर िलखᱶ। 2.5 cm और 5 

᭄ात करᱶ।                           (पाठ
Chandra Bose was a pioneer Indian scientist who is well known for his work on 

the wireless transmission of information using microwaves. Invited by Lord Rayleigh, in 
1897 Bose reported on his microwave (millimeter-wave) experiments to the Royal 

n and other societies in England. The wavelengths he used ranged from 2.5 cm to 5 

Write the frequency and wavelength range of microwaves. Also find the frequency 
corresponding to the wavelengths 2.5 cm and 5 mm.             (See

िन᳜िलिखत मᱶ स ेᳰकसी एक ᮧ᳤ का उᱫर 100-150 श᭣दᲂ मᱶ दᱶ। 
Answer anyone of the following questions in 100-150 words.  

एक ᳰकसान ह ै िजसके पास खेत का एक छोटा सा टुकड़ा ह ैजो एक आयत के ᱨप मᱶ ह ै िजसकᳱ 
25 मीटर और 30.75 मीटर ह।ै ऋिष अपने खेत कᳱ सीमा के साथ
माना जा सकता ह)ै से चलना शुᱨ करते ᱟए अपने खेत कᳱ सीमा

 
साथᭅक अंको को ᭟यान मᱶ रखत ेᱟए, ऋिष के खेत के ᭃेᮢफल कᳱ गणना, m2 तथा 

सहायता स,े ऋिष के पᳯरणामी िव᭭थापन सᳰदश को िनदᱷशांक 
के ᱨप मᱶ ᳞Ღ करᱶ। 

का िनयम को पᳯरभािषत कᳱिजय े िजसका उपयोग आपने ऋिष के 
के िलए ᳰकया था। 

के ᭃैितज और ऊ᭟वाᭅधर िव᭭थापन सᳰदशᲂ का ᳲबद ुऔर ᮓॉस गुणन ᭄ात कᳱिजये

is a farmer who owns a small piece of farmland which is in the form of a rectangle 
with length and breadth of 40.25 m and 30.75 m respectively. Rishi moves along the 
boundary of her farmland starting from one corner (assumed to be origin) and covers half 
the boundary of her farmland. 

  3 

2 

 तरंग कᳱ आवृिᱫ 

ᳰकया जा सकता ह?ै 

                                                        (पाठ – 30 दखेᱶ) 
Define Ground wave Propagation. One of the fifth generation (5G) cellular network radio 
waves has a frequency of 3300 MHz. Can this radio wave be propagated through ground 

(See Lesson – 30) 

 

सूचना के वायरलसे 
मᱶ बोस न े रॉयल 
ᮧयोगᲂ कᳱ सचूना 

था। 
5 mm तरंग द᭟ैयᭅ 

पाठ – 30 दखेᱶ) 
Chandra Bose was a pioneer Indian scientist who is well known for his work on 

the wireless transmission of information using microwaves. Invited by Lord Rayleigh, in 
wave) experiments to the Royal 

n and other societies in England. The wavelengths he used ranged from 2.5 cm to 5 

Write the frequency and wavelength range of microwaves. Also find the frequency 
(See – 30 Lesson) 

 

4 

एक ᳰकसान ह ै िजसके पास खेत का एक छोटा सा टुकड़ा ह ैजो एक आयत के ᱨप मᱶ ह ै िजसकᳱ 
अपने खेत कᳱ सीमा के साथ-साथ 

अपने खेत कᳱ सीमा/पᳯरमाप 

तथा cm2 दोनᲂ मᱶ 

िनदᱷशांक अᭃो कᳱ 

ऋिष के पᳯरणामी 

᭄ात कᳱिजय।े 
(पाठ-1 दखेᱶ) 

is a farmer who owns a small piece of farmland which is in the form of a rectangle 
moves along the 

boundary of her farmland starting from one corner (assumed to be origin) and covers half of 
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(i) Calculate the area of Rishi
well as in cm2  
(ii) Express the net displacement 
coordinate axes by drawing the relevant diagram.
(iii) State the law of vector addition which you used to find 
(iv) Find the dot and cross product of 

(B) अरमान अपने ᮝै᭍टर को कᳱचड़ भरे
रहती ह ैजब तक ᳰक वगे बᱟत अिधक
᭭पशᭅरेखा कᳱ ᳰदशा मᱶ गित करते ᱟए टायर से अलग हो जाती ह।ै
जगह घुमते ᱟए, अरमान के ᮝै᭍टर

(i) कारण बताइए ᳰक टायर कᳱ गित
िगरती ह?ै 
(ii) यᳰद टायर स ेसंपकᭅ  टूटन े

कोण 30o ह,ै तो नीच ेᳰदए गए
अिधकतम ऊंचाई ᭄ात करᱶ। 

(iii) यᳰद अरमान के ᮝै᭍टर के 

जाए तो टायर के कᱶ ᮤीय अᭃ के पᳯरत
Arman while driving his tractor in a muddy field observes that the mud clings to the tyres 
until the speed becomes too high and then it flies off tangentially as shown in figure given 
below. The diameter and mass of the rear tyre of Arman’s tractor which is stuck in a muddy 
area and rotating at one place,

(i) State the reason why the mud stuck to a tyre flies off tangentially during the motion 
of the tyre. 
(ii) Find the maximum range and maximum height of mud thrown from a tyre if the 
initial tangential velocity of mud on losing contact with tyre is 2 m/s and angle of 
projection is 30o according to the diagram given below:

 

Rishi’s farmland up to correct significant figures in both m

the net displacement vector of Rishi in terms of unit vectors
by drawing the relevant diagram. 

State the law of vector addition which you used to find Rishi net displacement. 
Find the dot and cross product of Rishi’s horizontal and vertical displacement.

(See Lesson 
भरे मैदान मᱶ चलात ेसमय दखेता ह ैᳰक िमᲵी टायरᲂ से
अिधक न हो जाए और ᳰफर यह नीच ेᳰदए गए िचᮢ मᱶ

कᳱ ᳰदशा मᱶ गित करते ᱟए टायर से अलग हो जाती ह।ै कᳱचड़ भरे इलाके 
ᮝै᭍टर के िपछल ेटायर का ᳞ास और ᮤ᳞मान ᮓमशः 70 cm

 
कᳱ गित के दौरान, टायर स ेिचपकᳱ ᱟई िमᲵी ᭭पशᭅरेखा

 पर िमᲵी का ᮧारंिभक ᭭पशᭅरेिखय वगे 2 मीटर/सेकᱶ ड है

गए िचᮢ के अनुसार, टायर स ेफᱶ कᳱ गई िमᲵी कᳱ अिधकतम

 
 िपछले टायर को कᱶ ᮤीय अᭃ के चारᲂ ओर घूमन ेवाला 

अᭃ के पᳯरत: जड़᭜व-आघूणᭅ को पᳯरकिलत कᳱिजए।           
Arman while driving his tractor in a muddy field observes that the mud clings to the tyres 

the speed becomes too high and then it flies off tangentially as shown in figure given 
below. The diameter and mass of the rear tyre of Arman’s tractor which is stuck in a muddy 

and rotating at one place, is approximately 70 cm and 56 kg respectively.

 
State the reason why the mud stuck to a tyre flies off tangentially during the motion 

Find the maximum range and maximum height of mud thrown from a tyre if the 
initial tangential velocity of mud on losing contact with tyre is 2 m/s and angle of 

according to the diagram given below: 

 
  4 

up to correct significant figures in both m2 as 

in terms of unit vectors along 

net displacement.  
’s horizontal and vertical displacement. 

(See Lesson – 1) 
स ेतब तक िचपकᳱ 
मᱶ ᳰदखाए अनुसार 
 मᱶ फंसे व एक ही 

cm और 56 kg ह।ै 

᭭पशᭅरेखा कᳱ ᳰदशा मᱶ ᭍यᲂ 

ह ैऔर ᮧᭃेपण का 

अिधकतम परास और 

 छ᭨ला माना 

      (पाठ -4,7दखेᱶ)                                            
Arman while driving his tractor in a muddy field observes that the mud clings to the tyres 

the speed becomes too high and then it flies off tangentially as shown in figure given 
below. The diameter and mass of the rear tyre of Arman’s tractor which is stuck in a muddy 

is approximately 70 cm and 56 kg respectively. 

State the reason why the mud stuck to a tyre flies off tangentially during the motion 

Find the maximum range and maximum height of mud thrown from a tyre if the 
initial tangential velocity of mud on losing contact with tyre is 2 m/s and angle of 
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(iii) If the rear tyre of Arman’s tractor is considered as a Hoop rotating about about the 
central axis. Calculate the moment of inertia of the tyre about the central axis.            

(See Lesson – 4,7) 
5. िन᳜िलिखत मᱶ स ेᳰकसी एक ᮧ᳤ का उᱫर 100-150 श᭣दᲂ मᱶ दᱶ।  

Answer anyone of the following questions in 100-150 words. 
4 

(A) (i) कमरे के ताप पर हाइᮟोजन अणुᲐ और ऑ᭍सीजन अणᲐु कᳱ वगᭅ मा᭟य मलू वेग का अनुपात ᭄ात 

करᱶ। [ ᳰदया गया ह:ै H परमाणु का मोलर ᮤ᳞मान 1 u ह,ै O परमाणु का मोलर ᮤ᳞मान 16 u ह]ै। 

(ii) ᭍या गसै अणᲐु कᳱ औसत वगे और वगᭅ मा᭟य मूल वगे समान होते ह?ᱹ पाँच अणᲐु का उदाहरण 

लेकर समझाइए िजनका वगे ᮓमशः 2, 3, 5, 7, 11 इकाई ह।ै                                          (पाठ-10) 
(i) Find ratio of the rms speed of the hydrogen molecules and oxygen molecules at room   
temperature. [Given: Molar mass of H is 1 u, Molar Mass of O is 16 u]. 
(ii) Are the mean speed and root mean square speed of gas molecules the same? Explain by 
taking the example of five molecules that have speeds 2, 3, 5, 7, 11 units, respectively.                                                 

(Lesson – 10) 

 

(B) (i) सौर ि᭭थरांक ᭍या ह?ै पृ᭝वी पर इसका मान ᭍या ह?ै 
(ii) नीचे ᳰदए गए ᮲ोत को पढ़ᱶ और उसके बाद आने वाले ᮧ᳤ का उᱫर दᱶ: 
आᳰद᭜य-एल1 सौर वातावरण का अ᭟ययन करन े के िलए एक उपᮕह ह,ै िजसे भारतीय अंतᳯरᭃ 
अनुसंधान संगठन (इसरो) और िविभ᳖ अ᭠य भारतीय अंतᳯरᭃ अनुसंधान सं᭭ थानᲂ ᳇ारा बनाया और 
िवकिसत ᳰकया गया ह।ै इसे सूयᭅ-पृ᭝वी ᮧणाली के एक िवशेष िब᭠द ुिजसे लᮕैᱶिजयन ᳲबद ु1 (L1) के नाम 
से जाना जाता ह,ै मᱶ रखा गया ह,ै जो पृ᭝वी स ेलगभग 1.5 िमिलयन ᳰकमी दरू ह ैिजसका अिभᮧाय ह ैᳰक 
आᳰद᭜य-एल1 पृ᭝वी से लगभग 1.5 िमिलयन ᳰकमी दरू, सयूᭅ कᳱ ओर िनदᱷिशत रहता ह,ै जो पृ᭝वी-सयूᭅ 
कᳱ दरूी का लगभग 1% ह।ै 
उपरोᲦ आकंड़ᲂ कᳱ सहायता से, L1 ᳲबद ुके आसपास के ᭃेᮢ  तक इकाई समय मᱶ, इकाई ᭃेᮢ  मᱶ पᱟचंन े
वाली सौर ऊजाᭅ का अनमुान लगाए।ं                                               (पाठ-12) 

(i) What is solar constant? What is its value on earth?  
(ii) Read the source given below and answer the question that follows it:  
Aditya-L1 is a satellite for studying the solar atmosphere, designed and developed by the 
Indian Space Research Organisation (ISRO) and various other Indian Space Research 
Institutes. The spacecraft is placed at a special point called as Lagrangian point 1 (L1) of the 
Sun-Earth system, which is about 1.5 million km from the Earth i.e. Aditya-L1 stays 
approximately 1.5 million km away from Earth, directed towards the Sun, which is about 
1% of the Earth-Sun distance. 
Using above data, Estimate solar energy reaching the region around L1 point per unit 
area per unit time.                      (Lesson – 12) 

 

6. नीच ेदी गयी पᳯरयोजनाᲐ मᱶ स ेकोई एक पᳯरयोजना तयैार कᳱिजय े| 
Prepare any one project as given below.  

6 

(A) एक लᱶस िनमाᭅता ने साधारण कांच (अपवतᭅनाकं = 1.5) के िविभ᳖ पतले उᱫल लᱶसᲂ को बनाया, िजनकᳱ 
फोकल दरूी, उनकᳱ सतहᲂ कᳱ वᮓता कᳱ िᮢ᭔या के मान के अनुसार अलग-अलग ह ैऔर उ᭠हᱶ L1, L2, L3 

और L4 के ᱨप मᱶ िचि᭠हत ᳰकया। हालाᳰँक, ये लᱶस अपने िच᭠ह के साथ िमि᮰त हो गए और उनके पास 
लᱶस सतहᲂ कᳱ वᮓता कᳱ िᮢ᭔या के मान से संबंिधत िववरण ही बचा ᱟआ ह ैजो नीचे दी गई तािलका मᱶ 
ᳰदया गया ह।ै एक ᮕाहक राजू 10 cm फोकल दरूी का एक लᱶस खरीदना चाहता ह।ै लᱶस िनमाᭅता को राज ू
को कौन सा लᱶस दनेा चािहए? 

लᱶस सतहᲂ कᳱ वᮓता कᳱ िᮢ᭔या 
R1 R2 

L1 10 cm 20 cm 

L2 30 cm 6 cm 
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L3 

L4 

राजू 10 cm कᳱ फोकल दरूी वाला लᱶस अपन ेघर लाया और 
वाली सुई कᳱ ि᭭थित बदल-बदलकर
नीच ेदी गई तािलका भरᱶ: 

केस 
स.ं 

िब᭥ब/व᭭त ुकᳱ 
ि᭭थित 

ᮧितिब᭥ब 
कᳱ 

ि᭭थित 

ᮧित
िब᭥ब

ऊंचाई

1. 5 सेमी 
(O और F के 
बीच) 

- 10 cm cm

2. 6 सेमी 
(O और F के 
बीच) 

……… ……

3. 15 सेमी 
(F और 2F के 
बीच) 

……… ……

4. 20 सेमी 
(2F पर) ……… ……

5. 30 सेमी 
(2F से आग)े ……… ……

अपन ेपᳯरयोजना के ᮧ᭜यके चरण मᱶ अपन ेउᱫर का समथᭅन करन ेके िलए आव᭫यक गणनाए ँᳰदखाए।ँ
                                                                                                                
A lens maker designed various convex lenses made up of ordinary glass (R.I. = 1.5) having 
different focal lengths according to 
labelled them as L1, L2, L3 and L
and he is left with data pertaining to the value of radii of curvatures of Lens surfaces as 
given in the table below. A customer Raju wants to buy a lens of focal length 10cm. 
lens should the lens maker give to Raju?
 
 
 

Lens 

 

10 cm ∞ 

15 cm 15 cm 

वाला लᱶस अपने घर लाया और अलग-अलग पᳯरि᭭थितयᲂ मᱶ
बदलकर, सुई का ᮧितिब᭥ब बनाया। सुई कᳱ िविभ᳖ ि᭭थितयᲂ के आधार पर 

ᮧित-
िब᭥ब 
कᳱ 

ऊंचाई 
 

आवधᭅन 
का मान 

(m) 

ᮧितिब᭥ब 
आभासी और 

सीधा या 
वा᭭तिवक 
तथा  उ᭨टा 
बना ह?ै 

᭍या ᮧितिब᭥ब 
ᮧा᳙ करन ेके 

िलए पदाᭅ/᭭ᮓᳱन 
आव᭫यक ह?ै 

उपयᲦु पमैाने का 
उपयोग करके ᮕाफ़ 

पेपर पर 
िलए 

+2 
cm +2 

आभासी और 
सीधा नहᱭ 

(केस 
तािलका के अंत मᱶ 
ᳰदखाया गया है

……. …….. ………. ………. 

अप
ᮧ᭜येक 
ᮕाफ़ शीट संलᲨ करᱶ 

……. …….. ………. ………. 

……. …….. ………. ………. 

……. …….. ………. ………. 

 
के ᮧ᭜येक चरण मᱶ अपन ेउᱫर का समथᭅन करन ेके िलए आव᭫यक गणनाए ँᳰदखाए।ँ

                                                                                                                
A lens maker designed various convex lenses made up of ordinary glass (R.I. = 1.5) having 
different focal lengths according to the value of radii of curvatures of their surfaces and 

and L4. However these lenses got mixed up with their label intact 
and he is left with data pertaining to the value of radii of curvatures of Lens surfaces as 

A customer Raju wants to buy a lens of focal length 10cm. 
lens should the lens maker give to Raju? 

Radius of curvature of surfaces 
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पᳯरि᭭थितयᲂ मᱶ, 1 cm लंबाई 
। सुई कᳱ िविभ᳖ ि᭭थितयᲂ के आधार पर 

उपयᲦु पमैान ेका 
उपयोग करके ᮕाफ़ 

पेपर पर ᮧ᭜यके केस के 
िलए ᳰकरण आरेख 

बनाए।ं 

केस स.ं 1 का ᮕाफ, 
तािलका के अतं मᱶ 
ᳰदखाया गया ह)ै 

अपने उᱫर पᮢक मᱶ 
ᮧ᭜येक केस के िलए 
ᮕाफ़ शीट संलᲨ करᱶ 

या िचपकाएँ। 

के ᮧ᭜यके चरण मᱶ अपन ेउᱫर का समथᭅन करन ेके िलए आव᭫यक गणनाए ँᳰदखाए।ँ                                                       
                                                                                                                (पाठ – 20 देख)े 
A lens maker designed various convex lenses made up of ordinary glass (R.I. = 1.5) having 

the value of radii of curvatures of their surfaces and 
. However these lenses got mixed up with their label intact 

and he is left with data pertaining to the value of radii of curvatures of Lens surfaces as 
A customer Raju wants to buy a lens of focal length 10cm. Which 
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L1 

L2 

L3 

L4 

Raju brought the lens with a focal length of 10 cm to his home and produced the image of a 
needle of length 1 cm in different cases by changing its position. 
based on the different positions of the needle:

Cas
e 

No. 

Position of 
object 

Position 
of 

image 

1. 5 cm 
(between O 
and F) 

- 10 
cm 

2. 6 cm 
(between O 
and F) 

…… 

3. 15 cm 
(between F 
and 2F) 

…… 

4. 20 cm 
(at 2F) …… 

5. 30 cm 
(beyond 2F) …… 

Show the necessary calculations to support your answer at each step of your project.

                                                                                                                      

(B) हमᱶ आसपास कᳱ दिुनया के बारे मᱶ अिधकांश जानकारी अपनी आँखᲂ से िमलती ह।ै लेᳰकन जसैा ᳰक आप 
जानते ह,ᱹ िबना सहायता ᮧा᳙ आँखᲂ
ᮕह आᳰद यह हम े इतनी छोटी ᳰदखाई देती ह ᱹ ᳰक हम उनका िववरण दखेने मᱶ असमथᭅ होते ह।ᱹ इसी 
ᮧकार, जो व᭭तुए ंबᱟत छोटी ह,ᱹ उदाहरण के िलए
रहते ह।ᱹ हम अित सू᭯ म एवं अित दरू कᳱ व᭭तᲐु को कैसे दखे सकते हᱹ
िवशेष उपकरणᲂ को ᮧकाशीय यंᮢ

(i) उन ᮧकाशीय यंᮢ  के नाम बताइए िजनका उपयोग बᱟत सू᭯ म व᭭तᲐु जैसे पराग कण

 

R1 R2 

10 cm 20 cm 

30 cm 6 cm 

10 cm ∞ 

15 cm 15 cm 

Raju brought the lens with a focal length of 10 cm to his home and produced the image of a 
needle of length 1 cm in different cases by changing its position. Fill the table given below
based on the different positions of the needle: 

Position 

 

Height 
of 

Image 

Value of 
Magnific

ation 
(m) 

Image is 
virtual & 
Erect or 

Real 
Inverted? 

Is the 
screen 

required 
for 

obtaining 
the 

image? 

using a suitable 

+2 cm +2 Virtual & 
Erect No 

(graph of Case 
No. 1 is shown
at end of table

 …….. …….. ………. ………. 

Attach or paste 
the graph sheet 
for each case in 
your response 

 …….. …….. ………. ………. 

 …….. …….. ………. ………. 

 …….. …….. ………. ………. 

Show the necessary calculations to support your answer at each step of your project.

                                                                                                                      (See Lesson 

हमᱶ आसपास कᳱ दिुनया के बारे मᱶ अिधकांश जानकारी अपनी आँखᲂ से िमलती ह।ै लेᳰकन जसैा ᳰक आप 
आँखᲂ कᳱ सीमाएँ होती ह;ᱹ जो व᭭तुए ँहमसे बᱟत दरू होती 

इतनी छोटी ᳰदखाई दतेी ह ᱹ ᳰक हम उनका िववरण दखेने मᱶ असमथᭅ होते ह।ᱹ इसी 
उदाहरण के िलए, परागकण, जीवाणु, िवषाणु आᳰद नᲨ आंखᲂ से अदृ᭫ य 

रहते ह।ᱹ हम अित सू᭯ म एव ंअित दरू कᳱ व᭭तᲐु को कैसे दखे सकते ह?ᱹ इस उ᳎े᭫ य के 
यंᮢ  कहा जाता ह।ै 

के नाम बताइए िजनका उपयोग बᱟत सू᭯ म व᭭तᲐु जैसे पराग कण

  7 

Raju brought the lens with a focal length of 10 cm to his home and produced the image of a 
Fill the table given below 

Draw a ray 
diagram on 
graph paper 

using a suitable 
scale. 

(graph of Case 
No. 1 is shown 
at end of table)  

Attach or paste 
the graph sheet 
for each case in 
your response 

sheet. 

 
Show the necessary calculations to support your answer at each step of your project. 

See Lesson – 20) 

हमᱶ आसपास कᳱ दिुनया के बारे मᱶ अिधकांश जानकारी अपनी आँखᲂ से िमलती ह।ै लᳰेकन जसैा ᳰक आप 
होती  ह ᱹजैसे तारे, 

इतनी छोटी ᳰदखाई दतेी ह ᱹ ᳰक हम उनका िववरण दखेने मᱶ असमथᭅ होते ह।ᱹ इसी 
िवषाणु आᳰद नᲨ आंखᲂ से अदृ᭫ य 

इस उ᳎े᭫ य के िलए बनाए गए 

के नाम बताइए िजनका उपयोग बᱟत सू᭯म व᭭तᲐु जसैे पराग कण, ब᭍ैटीᳯरया, 
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वायरस आᳰद को दखेने के िलए ᳰकया जाता ह।ै ऐसे उपकरण ᳇ारा ᮧितिब᭥ब के िनमाᭅण को ᳰदखाने के 
िलए एक ᳰकरण आरेख बनाए।ं 
(ii) ऐसे ᮧकाशीय यंᮢ के नाम बताइए िजनका उपयोग तारᲂ, ᮕहᲂ आᳰद जैसी बᱟत दरू कᳱ व᭭तुᲐ को 
देखने के िलए ᳰकया जाता ह,ै िज᭠हᱶ उपयᲦु उᱫल लᱶस कᳱ एक जोड़ी का उपयोग करके िडज़ाइन ᳰकया 
गया ह।ै ऐसे उपकरण ᳇ारा ᮧितिब᭥ब के िनमाᭅण को दशाᭅने के िलए एक ᳰकरण आरेख बनाएं। सामा᭠य 
समायोजन मᱶ इसकᳱ आवधᭅन ᭃमता का सूᮢ भी ᭄ात कᳱिजए। 
(iii) रजनी, एक बᱟत ही िज᭄ासु िशᭃाथᱮ ह,ै उसे खगोल िव᭄ान मᱶ गहरी ᱧिच ह ैऔर वह तारᲂ, ᮕहᲂ 
आᳰद के बारे मᱶ अ᭟ययन करना चाहती ह।ै उसने घर पर एक ᮧकाशीय यंᮢ िडजाइन करने का िवचार 
ᳰकया जो उसे रािᮢ के आकाश मᱶ ᳰदखाई दनेे वाल ेिसतारᲂ, ᮕहᲂ आᳰद को ᭭प᳥ ᱨप स ेदखेने मᱶ मदद 
कर सके। इसके िलए उसे अपने पास मौजूद तीन अलग-अलग लᱶसᲂ मᱶ से एक जोड़ी लᱶस का उपयोग 
करना ह,ै िजसका िववरण नीचे ᳰदया गया ह:ै 

लᱶस फोकल दरूी  ᳇ारक 
L1 30 cm 5 cm 

L2 20 cm 1.5 cm 

L3 10 cm 1.5 cm 

 
वांिछत ᮧकाशीय यंᮢ को सामा᭠य समायोजन मᱶ िडजाइन करन ेऔर उᲬ िवभेदन ᭃमता के साथ 
अिधकतम आवधᭅन ᭃमता ᮧा᳙ करने के िलए रजनी को लᱶस कᳱ कौन सी जोड़ी चनुनी चािहए? 
अपने उᱫर कᳱ ᳞ा᭎या कᳱिजये।                                                                (पाठ – 23 देख)े 

We get most of the information about the surrounding world through our eyes. But as you 
know, an unaided eye has limitations; objects which are too far like stars, planets etc. 
appear so small that we are unable to see their details. Similarly, objects which are too 
small, e.g. pollen grains, bacteria, viruses etc. remain invisible to the unaided eyes. How can 
we see very minute and very distant objects? The special devices meant for this purpose are 
called optical instruments.  

(i) Name optical instruments which are used to see very minute objects like pollen grains, 
bacteria, viruses etc. Draw a ray diagram to show the formation of images by such a 
device. 
(ii) Name optical instruments that are used to see very distant objects like stars, planets 
etc. are designed using a pair of suitable convex lenses. Draw a ray diagram to show the 
formation of images by such a device. Also derive an expression for its magnifying power 
in normal adjustment. 
(iii) Rajni, a very inquisitive learner, has a deep interest in astronomy and wants to study 
about stars, planets,etc. visible in the night sky. She decided to design an optical 
instrument at home which could help her clearly see stars, planets,etc. using a pair of 
lenses among the three different lenses she have, whose details are given below: 

Lens Focal length Aperture 

L1 30 cm 5 cm 

L2 20 cm 1.5 cm 

L3 10 cm 1.5 cm 

 
Which pair of lenses Rajni should choose to design the desired optical instrument in 
normal adjustment and get the maximum magnifying power with high resolving 
power? Explain your answer.                                                                (See Lesson – 23) 

 


